4M006B Pupil Tasks Plan couk

Master Non-Standard Partitioning (4 digits)

Fluency 1 Fluency 2
Complete the stem sentences. Draw a non-standard partition of 3,425 _5
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1,000 83
-

00 4 N 4 N 4 N
1 1,000s 1,000s and 100s 10s and 1s
and combine to make
100 ‘
‘ \_ J \, J \_ J
1 5,217 partitions into ) and

and combine to make

@ © Planpanion LTD 2024



4M006B Pupil Tasks Plan couk

Master Non-Standard Partitioning (4 digits)

Fluency 3 Fluency 4 <
Combine using the part-whole models and equations. Partition using the part-whole models and equations. - §
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5,000 +150 + 34 + 4 = 5,000 + 680 +15 + = 5,697 o3
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1,000 + 7,600 + 51 = 7,000 + 350 + =7398 B
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‘ 8 + 7,400 + 200 = @ 9,300 + +1=9406
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830 +2 + 2,000 + 22 = +3100+10+9=3979
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Master Non-Standard Partitioning (4 digits)

Fluency 5 Fluency 6
Partition using the part-whole models and equations. Fill in the missing numbers.
8,764 - ___ =8500 7853-__ =6,053
__ +7600+3=7853
@ G ‘ 7855-___ =713
7300+ __ +353=7853
@ Fluency 7
1925-__ =1910 Fill in the missing numbers.
1300+ +16=1346
3669-  =3605 _ +4300+570+2=5872
@ 9,231-____ =8,031
@ 7100 +460+24=__
3510-___ =2410
@ ‘ 6,720 -1500=___
‘ @ 6 ’ __ +1200+4=2704
6394- _ =3394 G 8240-___ =8030
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